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567686 9: ;9; <= >?@ABCD <DEFD
vBx = vBy = 0 G
vBz = [−50,−49,−48,−47] G
A(2, 0, 4) # B(0, 0, 3) # C(0, 5, 4) # D(1, 4, 0) #

567686 9: ;H ; I A= FJ <KE LM N OFK >JCP
vBy = vBz = 0 G
vBx = [−32,−31,−30,−29] G
A(1, 0, 4) # B(0, 0, 3) # C(0, 4, 3) # D(2, 4, 0) #

567686 9: ;Q ; I >=FR@FJ S>FK OCT UCBAT= FJCP
vBx = vBy = 0 G
vBz = [−48,−47,−46,−45] G
A(4, 0, 1) # B(0, 0, 2) # C(1, 4, 2) # D(2, 5, 0) #

567686 9: ;V ; I FDWAK >D?F <DWK >T
vBx = vBy = 0 G
vBz = [−36,−35,−34,−33] G
A(3, 0, 4) # B(0, 0, 3) # C(0, 2, 3) # D(3, 4, 0) #

567686 9: ;X ; SC=YM ADFJ I R=AE ZAC=Y>JCP
vBy = vBz = 0 G
vBx = [−24,−23,−22,−21] G
A(3, 0, 2) # B(0, 0, 3) # C(2, 4, 4) # D(3, 5, 0) #

567686 9: ;[ ; \ OFK FJ ] @>JF= FW ^ CK C==FJCP
vBx = vBy = 0 G
vBz = [−24,−23,−22,−21] G
A(3, 0, 3) # B(0, 0, 2) # C(0, 2, 3) # D(2, 5, 0) #

567686 9: ;_; ` RKAJ= >JA <DA@EA@Ca
vBx = vBy = 0 G
vBz = [−36,−35,−34,−33] G
A(4, 0, 1) # B(0, 0, 4) # C(0, 3, 1) # D(1, 2, 0) #

567686 9: ;b ; ccccc
vBx = vBy = 0 G
vBz = [−16,−15,−14,−13] G
A(4, 0, 3) # B(0, 0, 4) # C(2, 2, 3) # D(3, 2, 0) #

567686 9: ;: ; dReK C=YP>J f ADCC=
vBx = vBz = 0 G
vBy = [−84,−83,−82,−81] G
A(4, 0, 4) # B(0, 0, 4) # C(1, 3, 3) # D(3, 2, 0) #

567686 9: ;9g ; NhFEFJ iFM AD N OFK >JCP
vBy = vBz = 0 G
vBx = [−64,−63,−62,−61] G
A(2, 0, 4) # B(0, 0, 3) # C(0, 4, 2) # D(2, 1, 0) #

567686 9: ;99; jR?ADCD <=>?@ADWK k>K O>>JCP
vBx = vBz = 0 G
vBy = [−32,−31,−30,−29] G
A(4, 0, 4) # B(0, 0, 1) # C(0, 2, 3) # D(2, 4, 0) #

567686 9: ;9H ; k>M >DFJ f M CEK CT k>K O>>JCP
vBx = vBz = 0 G
vBy = [−48,−47,−46,−45] G
A(4, 0, 3) # B(0, 0, 2) # C(1, 4, 3) # D(2, 5, 0) #



567686 9: ;9Q ; k>D kReBAM
vBx = vBy = 0 G
vBz = [−96,−95,−94,−93] G
A(3, 0, 3) # B(0, 0, 4) # C(0, 4, 1) # D(2, 2, 0) #

567686 9: ;9V ; kE >lADFJA kJ>E=ADA
vBy = vBz = 0 G
vBx = [−72,−71,−70,−69] G
A(4, 0, 1) # B(0, 0, 2) # C(0, 3, 2) # D(2, 5, 0) #

567686 9: ;9X ; mE?CD <KE >M \ JO>DY>JCP
vBx = vBz = 0 G
vBy = [−105,−104,−103,−102] G
A(3, 0, 2) # B(0, 0, 1) # C(3, 5, 2) # D(2, 1, 0) #

567686 9: ;9[ ; nKAlFJ N JAD Z C?F=A>JCP
vBy = vBz = 0 G
vBx = [−72,−71,−70,−69] G
A(4, 0, 2) # B(0, 0, 4) # C(0, 3, 3) # D(2, 2, 0) #

567686 9: ;9_; o>K Dpq >J \ OFK ] AWCM FJCP
vBy = vBz = 0 G
vBx = [−48,−47,−46,−45] G
A(1, 0, 3) # B(0, 0, 4) # C(0, 4, 3) # D(3, 1, 0) #


